1.

Which of the states ranked first in the Sustainable Devel i

tG
2020-21 released by NITI Aayog? ) O-Pme.n oely Indialnges, C
(A) Himachal Pradesh (B) Tamil Nadu
(C)  Andhra Pradesh ‘ (D)  Kerala Seri
iy 3T G SIRY Fdd AT a6 HRA i, 2020-21 3 Sl T U7 ries
Ugol TUTA W §? |
() AT UeRl (B) dfdreaTg
(C) YU (D) &I

Consider the following quote:

“On ',?_6"‘ Jan}lary, 1950, we are going to enter a life of contradictions. In politics, we will have
equality and in social and economic life we will have inequality.”

To whom among the following is this quote attributed?

(A)  Mahatma Gandhi (B) Babasaheb Dr. Bhimrao Ambedkar
©) Sardar Vallabhbhai Patel (D) ' Lal Bahadur Shastri
i 3eur W AR &t -

“26 ST, 1950 T T iRt & Shrae 3 T B S T & ToreA Tl 3 AN U Fareredm
2ot 3t TS Ud 3T g 3 &R U 3T e

Rrafataa & ¥ Rras! 28 3¢I0T &1 A3 faar ST &2

(A)  HETcAT I By dmaraed P I ESECR

(C)  TREN ToalH HI§ Ued (D) el TGy AT

The Electoral College for electing the President of India includes which of the following?
(i) Elected members of Rajya Sabha

(ii) Elected members of the Legislative Assemblies of the States

(iii) Elected members of the Legislative:Councils.of the States

(A)  iiionly (B) " iionly

© ii and iii (@ iandii ‘
m%wﬁ%wmmwmﬁﬁmﬁmﬁﬁw nfFe &2

()  ToawHr S e §ee

(ii) nmﬁzﬁrﬁrﬁnﬁamaﬁasﬁa‘rﬁﬂm

(iii) ot o Frerer e & oI He

(A)  had iii (B) &ad 11

© i 3 () i3

’(I':)e 'stati/});;i lof Himachal Pradesh is 5 . V\;estem Tragopan |

© Himalayan Bulbul ' (D)  Great Barbet _ J
{

fraArad gar o s Uall %l |

(a) e © By AT ST |

© TeAETd gorgel o) I EIRC [

ak 5 . L?
Who among the following fixes the date of election of the Deputy Speaker of the Lok Sabha
(o]

Sabha
The Secretary General of the Lok
%g; The Protem Speaker of the Lok Sabha
(C) The President of Indiq )
(D) The Speaker of the Lok Sabha - 3c;ié/2022-series
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ﬁ?aﬁmaﬁﬁﬁammmmwﬁaﬁmazﬁrmmm%? C
(A S Ferafg
(B) STehaam & gy B3v Cany Series
(C) {RT & Trgufy
(D) AT 3yeey
6. Which river'is the Kol Dam in Himachal Pradesh built across?
(A) avi (B)  Beas
© Sutlej (D) Sainj
%mwuaqrﬁmmﬁmaawm%?
(A) (B) &g
O wags (D) #AF
7. Because of jts high clay content the soil develops wide cracks in dry season. It is poor in humus yet
highly moisture retentive
Wwhere this soi is found i

is the most traditional crop

(B) Alluvial Soi]
(D) Black Soil

(A) o ey (B, Sfellg fredy
©  omEe s (D), " Prelt ey
8. The first 5G call in India was recently tested at?
(A) IIT Kanpur (B) 1ISc Bangalore
(C©)  IT Madras (D) 1T Delhi
wﬁmscmmmﬁrﬁuﬂmm’ﬁmwm
(A)  3TSIHEE B (B)  Immuas ek

O AR Az (D)  IEIES Rl

9 is aimed at building an extra decentralized web that puts users in control of
their data and identity.
(A) Web 2.0 - (B)  Web5.0
© Web 3.0 (D)  Web4:0

P 32 Th AN AP 99 aaen & 5 sweivoraniadt o s a1 3
U & faaor # w@an ¥
(A 4920 (B) das.0
(©  da3.0 D) 40

What is the architectural style of the temple built on the edge of the Prashar [ake?
10. at1s

. B Nagara
(A) Pyr arglda] shaped E[))) Cone shaped
(C)  Pagoda

3¢:16/ 9022-Series
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13.

14.

15.

16.

TR e & A et it o waraea el ar &2

(A) Section 124A of IPC (B)  Section 377 of IPC
(C)  Section 66A of IT Act (D)  Section 497 of IPC

WA FIE &1 dadst R Stex garey
Ay SUR Y aRT 1241 (B)  3medre &y aRT 377
© IS IR A arresr () ST Y Ry 497

Which among the following books was authored by Mahatma Gandhi?

(A) My Truth . . ;
©)_ Hind Swarg D) Divevary o i
ﬁmﬁ%ﬁﬁaﬁaﬁwmmmmm@m
4y Fweg (B) .. shaet o g zfeion
©  fee v ®) /IR FrE
The ‘Police Commemoration Day’«is observed in India on?
(A)  January 15 : (B)  November 26
© July 26 (D) October 21
ART H 'ferd TR Raw e s sirar &2
(A) S 15 (B)  de 26
@ JEd6 (D)  3MEgE 21
In which district is Bandli Wildlife Sanctuary located?
(A) Kangra (B) Sirmaur
(&) Mandi (D) Kullu
deell degehd arey fha fore #f feua &2
(A) T ®) fawEk
©— . (D)  Foef
Which mountain pass provides access between Lahaul and Spiti valleys?
(A) Kugti (B) ghasutri
© Inderhar (D) un.zum
et a1 Uerd) e ereter 3R T enfet & dra agT were ST ©?
(A) I (B)  ugAl
(C) ZeER (Dy  polA
5
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Ay RS F 3R & B) &avr

(©  Yamr (D) AP & HTHN P Series
- The Cripps Mission was sent by the British Government to visit India in the year:

(A) 1946 (B) 1935

© 1942 (D) 1939

(ii 5)3‘" FI?;GN ST TORCH fverer et o 3% amrer 31y a6 For st ara o

s T (B) 1935

(&= 194 D) 1939
- Which provision of i . Qs '

doal witFl)ﬁ n of law did the Navtej Singh Johar vs Union of India case of the Supreme Court

R W HIFH T & oy STaerrer & Feafarg am

8C:46/2022-Series



For questions 17-19, choose the most Appropriate meaning of (he following idioms:
17. Forty winks

(A)  Sleep disorders

By Eye sight related jssue
(©)  Ashort sleep during the day (D) Long sleeping hours

Series
18. Raise some hackles

(A  Todoa great task

B) To annoy
(©)  Tomake someone happy

(D) To empathise with others
19. Throw in the towel

(A)  Togive up (B)  To resist
© To have a bath , (D) To fight

For questions 20-22, choos

¢ the most appropriate synonyms of the following worgs:
20. Shocked
(A) Pacified (BY " Fascinated
(@) Impeded ) (D) Appalled

21. Didactic

. (A) Enlightening (B) Frightening
(©e Disgusting (D) Sensationa
22. Spurious
(A) Honest (B) Spoiled
© Counterfeit ) ,@) Genuine
For questions 23-25, choos
23. Pandemonium

(A)  Noisy (BY» Confusion
© Protest (D) ¢ Peace
24. Modesty

(A) Grandeur (B) Sobriety
© Propriety (DY Fairness
25. Congjse

imexam.com
(A Brief him (B) " Lengthy
(C) Abridged (D) Laconic
For questions 26-29,fill in the blanks with the most appropriate word:
26. We must not shy taking risks in life,

(A) upon BY”  with
(C) ‘away from D to
27. Due to her illness, she could not finish the work time.
(C) upon ((»)) on
28. The police was directed to his business dealings.
(A) look on (B)— look.inlo
(C) look up (D) ook to
29. Despite the injuries, Neeraj managed o the gold medal itllhc tournament.
. (A) pull out (B) pull‘otl
(C) pull in . . (M putin

6 3C-16/2022-Series
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30. Select the option which best expresses the sentence in active/passive voice: - C
1 remember my sister taking me to the museum.

(A) I remember taken to the museum by my sister.

(B) 1 remember being taken to the museum by my sister.

(C) I remember myself being taken to the museum by my sister.

(D} remember 1 was taken to the museum by my sister.

Series

For questions 31-32, select the appropriate option to change the sentence from direct to indirect speech
and vice versa. :

31. 1 asked my sister if she had returned the mobile phone to her friend.

(A) 1 said to my sister, "Have you return the mobile phone to your friend?’

(B) T asked my sister, *Did you return the mobile phone to my friend?’

(C) T said to my sister, *Have you returned the mobile phone to my friend?’

(D) T asked my sister, *I {ave you returned the mobile phone to your friend?’

32. “Where will you be tomorrow’, she said,
(A) She enquired about his whereabouts the
(B) She asked where he would be the next d
#) She asked him where he will be the nex
(D) She said to him where he would be tom

‘in case I have to call you?’

next day in case she would have to call him.
ay in case she had to call him.

t day in case she had to call him.

orrow in case she would have to call him.

33. For8 aeaeif qema wfoa 2.
(A)  FaTeEr g
© g . O ¥R

34. ST et o= 33T s .

@y st ®) - R
©  aer (D)

AT
35. OR= & ST
()  foorEr (B)  quam
(©)  forfr >y fadnt
36. |11 3R T & &g & T
(A) AdS @ g
(C)  amefer (D)  Zuar

et wit (37-42) 3 arr-wus & T o U e T
37. f9ga e A s 8% hjmexam.com
(A 3misg B ey

(C)  3HfdHEH (D) 3wvs

38. STeY U T B &

W g o
© g - O
7 3C-16/ 2022
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39.%@133&5%&73111133%: C ,
Ay 3y B)  faasar

(© 3y (D)  3ME

Series

40. ‘T D AT AT T’

(A)  HeX (B) dI%& |

©) s ()~ HAI

41. Tl 31w fear gy

(A IgHd (B)  3gd

©) IR (D) foER \\
42. A1 AE 7 U AR 21 arer

(A) a9 @By YafRe

© femfaw (D) TS
43.mmmamﬁﬁﬁmmm%-mmmmmﬁaﬁﬁﬁ erar & aer

QT AIfeeT [T & forw, farga g YT T U1 foRar Srar &

(A) &, TACHSAT (B) fafawy, weurcas

(&Y TaER, ATAdIH (D). " HdTeld, HTATcHE

44. =T & AT W GHRAT Heray a3 o

(A)  &THT Alar B) AL AT

45.

46.

47,

48.

(& &A1 4 3P a7 FIar (D) Ol @rerar
ST T W BTy Y e womat 3 & o &, ey T RS s

mtsﬁaaﬁgvmawﬁmﬂamm%,aﬁ-ﬁmq;@aﬁzﬁr o Tedlt 51T T &
(A) ©. faare, aRsmar (B) I, gy
(@ TasFaan, 3meier (D)  fapfa, ufy
‘STTRIRN A dTcd AT FgTa i 372 &

(A) 3097 9T ey (BY” wgd ST gl
©) g (D) 5 U FIS A
ﬁmﬁ@aa@?ﬁﬁaﬁammﬁﬁmmaﬁ%:
(A)  gfa (B)/ 3Tl

© WA - (D) 3mw
ﬁmaqwﬁﬁa?mmmﬁazﬁrmﬁﬁaﬁ%

A)  T&= (B) AR

© IFw (OREEEE]
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Scanned with CamScanner



digit 6 appear while writing integers from 400 to 900? C

49, How many times does the (B) 150
v 200 (D) 200
(©) , FAT 37 6 Rl A 31mar &2 Series
400 & 900 @ IR ForEdl Tt 3T 6 NI S &
(A) - 201 (B) 150
© 170 (By 200
50. A competitive examination was attended by male and female candidates. Out of the candidates who
applied 60% are female. 18% of the candidates have passed the examination. 22.22% of the
candidates who cleared are male. What percentage of femalecandidates has not passed the exam?
(A)  76.67% (B)  33.33%
(@) 40% ' gors Cannot be determined
T afcranlt adien # qew 3R Afeer sFeart a HnT o 3ded wiaare 3FEAGARl A
60% ATV 1 18% SFAlcar] & TReT sdvot &r ¥ 3efot gt arel 3Feant # 22.22% g9 &
foratet ufererar ifere salieant & advem sehof w¢t & &2 '
(A 76.67% (B)  33.33% :
©  40% (D) fauiRa =& forar o Fvar &
S1. gar?:sh bl{ys 20kgs of wheat every month for the family. The cost of wheat is.increased from
s.14 per l.\g to Rs.16 per kg. If Ramesh does not want to increase his expenditure on wheat, then
what quantity of wheat should he buy after the price increase?
(A)  125kg (B) 16kg
(©) 17.5 kg ( 16.5 k
T TR & fare e %1 T
TR 20 e N WhaT &1 A et 14 U2 Ufy Rve @ Tera
16?@@%@?‘&.@%1 aﬁmqrﬂ{wmwmﬁmmtﬁw?{%%
e 3N fhee 7T 3 A @lear mRw :
(A)  125kg L “ (B} 16kg
(C) 175kg B (D)  16.5kg
52. A train of 150m length travelling/at 90 kmph can cross a tunnel of length 250m in..
(A) 12 seconds Na (B)  15seconds '
(&) 16 seconds (D) 18 seconds
' 150Iﬁazﬁramémmaa%ﬁﬂﬁwﬁﬁtzﬁmﬁmwmguzsommzﬁrm
T TR &Y T &
(A)  12@ds# (B) 15dhsH
) 162 # ‘ (D) 18 W H
53.

What is the length of the longest pole that can be placed in a room 24 m long, 16 m wide and 18 m
high? »

(A)  24m (B) 28m
€ 34m (D) 42m
24 AR W, 16 FCT S AR 18 M 5 FAY H T ST AR AT T W01 WY By whars apar
Ay 24 FX (B) 28HX
© 3MAX (D) 423
9 3C-16/2022-Series
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54. The surface area

56.

57.

58.

59.

. A fish tank is in the shape of cuboid. Shyam who wants t

io4: i radius of the
of two spherical balls is in the ratio 4 : 9. Fmd the C

i ball, if the radius of the smaller ball is 4cm. - sem
bigger ball, B | e
(A) Scm ® i =—

?méﬁ?ﬁa‘izmwﬁmwwaimﬁm ady dig & B
(m&wm)mmwﬁmﬁaaﬁrﬁW4M%I

(A) SHM @) 7.5%A

©y” ocua (D) 9 A

o increase the volume of the tank so as to

0 0 0,
have more fish, increased the length, width and depth of the tank by 10%, 15% and 20%

respectively. By what percent has the tank’s volume increased?

(A)  46.2% (B) 33.1%
(C)  51.8% (D)  62.0%

UE AS T &b HaT & HR Bl & memmﬁmwﬁﬁm%wmm
AT &, & A oars, atars R TS 3 FAT: 10%, 15% 30 20% HT Jfg Fear &1 Eh &

I # forda wfawra & gfg g8 &2
(A)  46.2% 4B)  33.1%
(C)  51.8% | (D)  62.0%

James can do a piece of work in 50 days. Peter can do the same piece of work in 40 days. How long
will they take to complete 45% of the work when working together?

(A) 5 days (B) 9 days

© 7 days ‘ (D) 10 days

STEE T 1 ot 50 et 3 & Tepe &1 et 38 &1 T 40 Rt 3 X Teha ¥ T HTY e
Y §U 3¢ 45% A QU e 3 Rhcaar Gag a91am?

(A) Gl (B) 9 e

© 7f= @ 1ofa

The Earth’s atmosphere is mainly heated by? ‘

(A)  Short wave solar radiation (B) Long wave terrestrial radiation
(C) < Reflected solar radiation (D)  Scattered radiation
QT AGHSA FEAT: e gRT 13 R 77y &9

(A) gt gk fafeor (B) < a9 Tl Rt
© rafda @k s (D) Torerr g3 faftheoy

How are evergreen plants with woody stems having naked seed classified?

(A)  Angiosperms (B) Pteridophytes

© Gymnosperms (D) Bryophytes
mmmmﬁaﬁ‘mmmﬁﬁmmmﬁ?ﬁaﬁmm%‘?
(A)  3mqadish (B)  RerwEew

© = (D) gTATRIECH

Which of the following organelles in not found in animal cells?

(A)  Lysosome 1 Cell wall

(C)  Endoplasmic reticulum (D)  Cell membrane

10 . 3C-16/2022-Series
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Erafaf@d & T Sl ar SRt 3w Siqg MRATHY 3 78 aran swan ke C
(A) BRI (B) Hoard
() 3= veeTdt St (D) IR Brean Series

60. The stars twinkle in the night because
(A) They emit light intermittently
(B) The earth’s atmosphere absorbs light intermittently
(®) The star’s atmosphere absorbs light intermittently
(D) The refractive index of air in the atmosphere fluctuates

g & an feafeara & waifs

(A) XTI B IBIY SEHIST R &

¢5) e o AT -5 R SIRT Y RN BT
(C) oY T aTATaROT $h-Feh ¥ BT &l M AT &

(D)  aRHUSH 3 arg & YA # SAR-TSTd EIdT TEell &

61. Which one of the following is called the King of Chemicals?
(A) Sodium chloride (B) Nitric acid

© Sulphuric acid (D) Sodium carbonate

T & 4 6 THII & TSI Hel ST &2

LAy AT FaRES (B) ABREH FFA , )
(C) WHIR® 3HFd (D) WA FElE

62. Vinegar is the trade name for
(A) Formic acid
©) Carbon tetrachloride

(B) Phenol
(D) Acetic acid

IR &1 &I caTaIRSE A &
Ay IS 3Fd By frale
(C) e CIFANTES (D) R sew
63. Water in plants is transported by
(A) Xylem (B) Ph]oer.n
© Epidermis (D)  Cambium
it ST AT OREES G AT ST &
(by TSR (B)  WellUH
© uhstE | (D)  HfEEA
: - ~tion in human beings, the exchange of gases takes place in
64. ([Lu)rmg tl};?v%rocici:ess of res_plratlon in hu B) Bronchiole
(C)  Bronchi (D) Pleura & !
oo 3 ATl 1 iR & AR, it o STV A RIS
g ufsaie (B)  sfFEm3nd
@ e )~ T teo
: ?
65. What.is the value of X in the sequence 4@%%;}/)( .
EA) 300 -t (p) 250 H
C© 600 ) B
Srq 3C-16/2022-Series y
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66.

67.

68.

$ha 40, 20, 20, 30, 60, 150, X 3 X T AT T &2

(A) 300 (B)y 450
(©) 600 (D) 250

. SeriEs
Find the next term in the given series 369, 387, 351, 360, 342,

A) 343 (B) 351
- 3 ¢t o 376
r 1

©) 363 S
ﬁﬁ@mﬁmw@ﬁm%@

(A) 343 (B 351

© 363 (D) 376

If in a certain code language ‘FORMAL’ is written as ‘[RUJXI’. then how wil| ‘BETTER: .
written in that language?

(A)  EHQWBO (B)  EHWOBQ

(C)  EHWQBO (D)  EHWQOB

TS 0 FATRYE e s9r 3 FORMAL' Y IRUIX fera e &, ar 3¢t smray 3 'BETTER'
o S

(A)  EHQWBO (B)  EHWOBQ

(¥  EHWQBO (D) EHWQOB

Information for questions 68-70;

K,L, M, N, O, P and Q are seven students studyin
are three girls among them, one in
engineering, two study medicine and
engineering. M studies with only her b
studies either biotechnology or electrica
X and his brother P studies €lectrical e
medicine are in college Y. N studies bio

WA 68-70 % foyw gam:

b M, NeQ, RUSIT Q et B # St eftr 3rera.aremr st Y 3 2 3 ag @ ¥ 5
mmg,m@mmﬁmmmﬁmmﬁmﬁmmi
=% TRICRT 1 0218 3 & 3 s oo, el sty eerpens el A

ks

g inthree different colleges X, Y, and Z. Ther
each of these colleges. Two of them study mechanici
one each study biotechnology, pharmacy and electrical
est friend K who studies pharmacy in college Y. No gil
| engineering. O studies mechanical engineering in collﬁf‘.’e
ngineering in college Z. None of the two who are studying
technology along with O and Q.

In which of the colleges do three of them study?
Ay Z (B) v
(@ X (D)  None of these
ge1a ¥ TR chleret 31 1 ety 9
(A) Z B) Y
© X D) Fd § g e
3016 / Zozz.Series
12
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. .
69. Which of the following pairs of students study medicine?

IS (B) QP
(C L ~
ﬁ;aﬁ‘?@ﬁ'ﬁﬁ @ &b |
OTAT &1 el AT ST RAfFew &7 37CTG Pl 67 Series
) - NQ (B) QP |
(D) O,L

©r QL

70. Apart from O, who studies mechanical engineering?

L B M
C
() Q | (D)  None of these
O 3 37aTar, AR yaer Seffarafiar Pl Tadr &2
(A) L @B M
© Q (D) SR YDA
71. Museum is related to curator in the same way as Prison is related to ?
(A) Manager (B) Monitor
(&) Jailor (D) Warden
Wmmmﬂﬁmm%mmmmm uE?
(A) VEUE (B) AR
(€ SR (D) arsd
72. Choose the alternative which closely resembles the mirror image of the given com bination.
ANSa3Q12
ANZSPREDT S (2> S FQERSNA
z) 2NAEPDST (2) FSOPEANS
(A ! . (B)2
c 3 (D) 4
agﬁmgﬁaﬁﬁvmﬁmﬂa?muﬁﬁﬁaﬁm%a
ANSa3Q12 :
(1) AMNZPEDORS (2) S roepasnA
3> 2mnacpost ca) F SOBPEANS
A) | (B)2
(D)4

© 3
oudhary and Dr. Zia teach five different

var, Dr. Natrajan, Dr. Ch
four Universities Delhi, Gujarat, Bombay

Information for questions 73-77:
Geology and History in

Five professors Dr. Joshi, Dr. Da
- subjects Zoology. Physics, Botany;

and Osmania.

(I) Dr. Choudhary

(I1) Dr. Natrajan is neither in Osmania

Geology nor History.

(I1[) Dr. Zia teaches Physics but neit

(IV) Dr. Joshi teaches History in Delhi Liniversity.

(V) Two professors aré from Gujarat University.

teaches Zoology in Bombay University.

University nor in Delhi University-and he neither teaches

her in Bombay University nor in Osmania University.

13 - 3C-16/2022-Series
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WA 73-77% forw gaam: C
o wremesn 3. Sheh, 2. s, o deveE, & dted s o B oar

e fedl, oe, aF ARk sEmRRn # uiw semaew Rww Series
o=, SRy , aerrata e , i 3R sfaer verd )

() 3t gl ar Reaforarer & miRrera qerd £

() ﬁ.mammﬁmﬁrfaﬁaﬁaﬁﬁﬁhaﬁﬁw&mﬁmﬂaﬂtﬂam
afa=Te e & A A & 5w

(W) ﬁ.mﬁﬁﬁm%ﬁﬁmammﬁmﬁﬂhaﬁmﬁmﬁmﬁmm
(Iv) ﬁ.a’rahﬁﬁ-ﬁﬁr’aﬁnmﬁgmum%l
(V) e eRm Rafre @

73. Who teaches Geology?
(A) Dr Natrajan

(B) Dr. Zia
©) Dr. Davar . (D) Dr. Joshi
HFaST P Ugrar o
(Ay¥  siacsa (B)  =ifsmm
(C©)  sizEy (D) =7l

74. Dr. Zia is from which University?
(A) Gujarat

(B) Bombay
(C) Delhi (D)  -Osmania
. 1. forn forw Rrfamerr & 3
I i (B) e

©) e (D) sEafaan
75. Who teaches Botany?

(A) DreZia (B) Dr. Davar

© Dr. Joshi (D) Dr. Natrajan

qawate fasma wle uemar &

(A) = S : B sz

(C) =il (D) s aE
76. Who is from Osmania University?

(A) Dr.Natrajan (B) Dr. Davar

© Dr. Joshi (D)  Dr.Zia

STt Ao & #ia &

(A)  sTEweE 87 e

(©) TSR (D) =i fe=m
77. Which of the following combinations is correct?

(A)  Dr. Zia-Delhi University (B) Dr.Choudhary-Geology

(8] Dr.Davar-Bombay University (D) Dr. Natrajan -Gujarat University

14
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s

78.

79.

80.

frrafatad Faset 3 ¥ ol ar @8 82 C
(A) =i forn- Roeh afaarem (B) of 9ivdl - ¢fa=s=
(C)/ﬁ-m-amﬁmm (D) 3 @ - e e Series

Ifin a certain language MYSTIFY is coded as NZTUJGZ, how is NEMESIS coded in that language?
(A) ~ MDLHRDR (B)  OFNFTIT
(9] ODNHTDR (D) PGOKUGU

afanzﬁﬁrf%?rsmrrﬁMYSTIFYa#rNZTUJszmﬁﬁﬁﬁmm%,ﬂmmﬁ
NEMESIS &l hat ifsd fomam smeam?

(A)  MDLHRDR (By~ OFNFTIT
(C)  ODNHTDR (D)  PGOKUGU

Pointing to a man, a woman said: "His mother is the only daughter of my mother." How is the
woman related to the man?

(A) Mother (B) Daughter
(&) Sister (D) Grandmother
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(A FTar (B) A
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If M + N means M is the brother of N; M % N means M is the father of Nand M x N

means M is the sister of N. Which of the following means A is the uncle of C?

(A) A%BxC (B BxC%A

(©) A+D%E%C (D) A+F%GxC

2P M+ N T T N HE MEM %NS FTENF RAME IR M N T HIEN T a6 M
| et & ¥ Rewenard 6 cwr amar AR?

(A) A%BxC (B) BxC%A
(Q—A+D%E%C (D) A+F%GxC
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